1.

2.

3.

10.

11.

12.

Oo0OoooOo(@ooo,2004) 00O DO

2006.3.21 000
2008.7.30 OO0
201290300000

p.5,120,200 :0eVv0 000 200
p.7,1200 : 00000 V=wWt0O0O0OO

p. 900 11000000000): (W2)u= (T2 00000007000 o7
00000,0000 (W) = (vT2)(u™) 000 (vTw)(utz) = (WT2)000. 00
000 (Tz)0 2000000000000,

(Wru)?(wTz) = Tz) =  [(wTw)? -1](z) =0

000. (vl2)#£000000,vTe=+£1000.00000, |(v )| < JJulllv]l =1
O00000000000000000.000+0000000000,v=+u0
O000.0000,+.0000000000000.

.p-26, (V)0 : 1(n—1) — L(k—1)

.p. 46,000 Yk Os-60000000000000.

= E, U U M"H, V.V, En,
= (B, U (5,0 MY H,, Vo 2 (2P B,

00000,000000 4,B,C000000000
A=3V2UrMH, ,V.27? e RS, B:=3YVVTE, e R™™

C = EJUSY? € RP*

00 A2 =3, Y*urM2H,, V.3, *0oooo0oo0ooooo.

. p.50,0 3100 :0t#£s0000
.p.53,0001100 :t>s — t>s
.p.61,400 :000000 — 000000

.p-64,900 ty(t+m)eH — yt+m)eH,m>0

p. 74,0 3.90 0 : ce(t) — ce(t —1)
p. 90,000 5~600 :e(t|t—1) — e(t) 200

p.93,4431000 300 :C%(s) — C(s) (t<sO0O)



13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

p
p
p
p

.104,0 (5.9): Op(p+ 1,kp,:) — Op(p+1:kp,:)

. 113,541 0000 : 0 (5.20), (5.20)— O (5.20), (5.21)
.115,0 (5.43) 0000 : Rkp—n)x(ktl=i)m _, Rkp—n)x(k+1-i)p
.119,0 (5.58)0000000D00,00000000.

Q3 = LYWy — Ln L Up) + Uppam) — LipLoa]E, V2 € RE@TmXN

000, Laallk(prm) — LhyLoo) =000000,0 (558)0000. 00000000

O000O0ooooooood. (T. KatayamaSubspace Methods for System Identification

Springer, 20031 Theorem 6.3 000000000O0.)

p. 121,000 :0? = (XXT/N) — o2 =\

p. 1240000 52:(1:n,m+1:km) — (1:n,m+1:1lm)

p. 1240000 55:C € RPN — C e R™N

p.127,00 6.10 100 : 000 — 00OODODOO,000

p. 127,00 6.1 7w <w<7m —- —nw<w<w (300)

p. 127,0 0 0O : coersive — coercive (p. 1381 000)

p. 132,0 (6.33):Z(z71) — ZT(z7Y)

p. 132,0 (6.34),000 30 : 21 — 271

p.133,20000 : 2 — 271 (0003000,0000000)

p. 135 W (2) 000 :2/2—1 — z/2+1

p.141,0 (6.54) 00000 : 0000000

p. 143,0 (6.57)00 00 : O (6.5 — O (6.43)

p.143,0 (6.57)00,0000000000 (1,2)00 : T (k)™ — T (k)
p. 145,600 :0() — () 00O0DD.000000D 6400 I, IL,O0OOO0O. O
ooooo.

p.149,1°0 400 : 0 (6.24b)J 0 — O (6.14b)p 00 Co=C10D0

p. 149,000 300 :wh(t+k) — wli(t+k—1)

p. 149000200 :000000=---0 000

p.150,6.9.22 0000 : I — II!
p.151,3;=00,00 :4+(000) - =(@O000)



36.

37.

38.

39.

40.

41.

42.

43.

44,

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

p.
p.

.153,60000,00000000 : +Ccect — —cec”
.154000 : 000000000000

. 158, Coffee Break : Hotteling— Hotelling

.164,0 (7.30)00 3000000 :— E{--- [FOODODOO]

168,900 : %, /T — x;/T

171,000 60000,000 20 : ATO — ATOT

174,00 :0O0bDO0O,---000 pA75,000 300,0---000000.000

OoooO0Oo@uooooooooooo.ooooooooo?)

p.
p.

175,0 (7.73a) :z(t) — x1(t)

175,0 (7.74¢) :Ayp — Co

17500 7.7:()000

.182,900007.4:C — C;

.182,000 900 :000017=00000,0000

182,000 8900 :w*(t) — w*(t+1) (300)

.183,200 : K — KT

.183,400 : KT — K (200)

1840000 : {e*(t)(e*(t)} — E{e*(t)(e*(t)T}

.187,000 70000,00 : E{||z)|?} <oo — {z | E{||z|*} < =}
.188,0 8.2000 : BeXVE - beX Ve

.19400 :U; O — U O

.203,0 (849000 0 ys — =

£207,1200 : Yoe1 — Ygop 4

.207,13-1410 : 200000000000

208,000 700 : A(0) — A40) (200)

.223,0 (9.17)0000,00 : (f |uf)(p |ub)™ — E(f | uf)E(p | u)T
.227,000 900 : P, — Py

.229,000 p(¢) 00 : RE-T=Dptm)xl _, Rt=7)(p+m)x1

.231,000 Uy 000 : REPXN —, REmxN
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63. p. 233,Step ARSI 00,200 : Pp(p+1: kp,m+1,2m) — Pr(p+1:kp,m+1:2m)

64. p. 233, Step AR1 00,400
Or((k—1)p:kp,(k—1)m:km) — &r(E—1)p+1:kp,(k—1)m+1:km)

65. p. 234, Step B5 Yy, — Yi

66.p. 234,700 : 00 py, pe 0 — py € RN 5 e Rpx(N-1)

67.p. 246,000 P(z) =00000 : —ByD,,' — BaDyy'

68.p. 248,000 : Yy — Wi Yae — Wik

69. p. 249,300 : Yy — Wi, Ui — Ry

70.p. 250,000 1000,00 : ya(t) + ys(t) — uq(t) + us(t)

71.p. 256,500 : 0G(2)00 00O

72.p. 263,0 (10.47)00 : y(t) — ya(t)

73.p.280,000 120000,0000 :0—60s — y— Pbs=[Iy — D(®TD) 1aT)y

74.p.286,0 B4,000 900 (OCOO): Sfp — Rfp; (Lambdall O): Spp — Rpp
OOoooag : Vi, Uf, Vp, Up — VIf, Uff, Vpp, Upp

75. p.289,0 B.7,600 : km — 2km, kp — 2kp QDOOOOOO)
76.p.296,0 3900,00000000 :(az"t4-) - (I14azt4--)

77.p.298,0 00000 Hes:

01 0 -1 0 0 0 500000
1 0 -1 0 01 600000

78.p.299,0000 5200 : (1:n,m+1:km) — (L:nm+1:lm) (200)
79.p.300,0000 5.4(@00 : (BBT)"! - (BBT)t

80. p. 300,0 5,500 : 0000 5.3(a) — 5.4(a)

81.p.301,1600 : ATII"'C+ 8§ — AT 'CT+ 8§

82.p.304000 900 : 0! — el

83. p. 308,00 O [73] : postive — positive



